Midterm Review - Fill Ins by Topic
Observations are made using the 6{%7%5
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Measurement is /',omlﬂﬁfﬁéfl to a known 5&»’?0’/&@/.

Mass is the amount of Wﬁ%/ and is measured in %\mﬂ’)5

Volume is the 6\9/]’&& occupied by an object, measured in_ M [— o/ C/ﬂg
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The altitude of Polaris equals the l-é"/'/‘ﬁ//é of the Observer. ,
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Polaris (North Star) is located directly above the ,,M&’F‘ﬁ/‘ pél{ , gﬁ‘ﬁﬂi /4«5

Latitude is measured in degrees N@r’ﬁ/\ of 5;?./“’7 of the £C/'W“{'®f
Longitude is measured in degrees 6(1#' or (J\/’@ﬁv—' of the pﬁ’/nt Wdﬁiﬂ .

15 ° of Longitude = a Ee #0\»’f time change.

As you go East, time will Trcetase. ”T:;/ou go West, time win be LCSS

W o - Latitude lines are called lﬂc‘\f&, /(dS
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The Atmosphere is the %bl&” of ? aSES held on by ?jfﬁ"\/i-i»é‘f‘“

The Hydrosphere is is \,UC’GS'&F covering ‘7& % of the surface.

The Lithosphere is the @ cxllﬂg Shell of the planet. (__ (/¥ S and rigid /}I)aﬁ'f/(’_ ) f?.{‘;f_f_fj
The only layer inside the Earth that is completely liquid is the O(ﬂ’u’ éd re.

[n this layer the Melting point is L@W %/’I the _/L!T’{ff’;@f- temperature.
The MMO‘;'D%/Z’- (Plastic 'M/—"M”ﬁi ) has nﬂ&’ﬁ/’ti melting and Convection Q:V fﬁf’”ﬁ .
The shape of the Earth is an /;%)lﬁ‘}ﬁ. ‘{)'ﬂ‘/?&//wo'( because the Earth (y{'a%f;

The Earth is slightly Q’:«’z ﬂﬁ-ﬂf&/ at the poles and bﬂj%ﬂi at the Equator.

You would weigh mbfd at the poles and }«,55 at the Equator. X‘B
As distance between objects increases, Gravitational pull will Aecrease o‘fg
Isolines connect points of gqo’cv field value. @ SoL“L]‘QC"
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The closer the isolines, the 61“&&?@’ the gr&d( éﬁf

Contour lines form closed /0&{»75 or hit the ‘bo’/‘ﬁ[ﬁ”fﬁ | of a map.

To Estimate the higest possible elevation,. AM the interval, then éliﬁf'% (7(L one.

To Estimate the lowest elevation, C)db'f’(?« C’f the interval, then fdM one.
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Streams will always flow from h«?ﬂu{‘ elevation to /0;.»&[“ elevation.

Contour lines will bend Uiﬂgff’éﬂ(,n/\ where crossing a ﬁ(\/(r

Stream flow is Q@ﬂfﬁﬁz the direction ofthe bend in the contour line.
The topographic map below rgpresents a coastal landscape. The contour lines show the elevations in metezsil.i s 130
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Calculate the interval of the map. 5~ o
_ Aplten . J2em- (90 jsifhn
Calculate the gradient between points C and D. - m 2/41"’7

What direction is the river flowing on Hill A. -//11& <Tream *QCZows + e st ( é{'a F§

What is the maximum elevation of Hill A. j{"%ﬁ JSom -/ = ; /?ﬁ/M

If you walked from point C to point E you would go Via then Dm’ﬂ then Uf '

Put an X where the steepest slope is located. 674’”\/ Wl’\l"& G (0/, ) /{L’IL (“'[o[ﬂ WWL il
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